CEFFR

XIREEDOFETT DT, BREICKRDI LN DY ET, EEZRHTIEALEE

EBEB OFE

ETENE, BEMLSEFEICHOETVET,

KENBH D H 2 EEENFIE, KRFICL VAL TEEBOEERHEAED LOFEL S Y ORBRTRVEFRLVLES,
LB, EREICHOETVWETOTEA TIHERCIZI WL,
118 BFIK FE ENpE] BFNRTy b ZFART VB e L Yy h— NL—FR— | VZ7FTZ2R Ve Kz Sl FR—sL - XEBE
*wERE BE |[KER%E KE |[HhEE%E BE |NERE KE |KEBEE%E KHE f?k%ﬁ%| K |[AEBEHZE BE |[RERE KE |KBE%E KE |[KER%E BE |[KEEZEH KRE |[KEB% BE |KEA% KE
1 ~&H ~&H *&H 6:00 *hEHE OFF 7N K su4FM[  5:00
2 1:00 1:00 409> 409 1:00 4093 1K 409> 1:00 1:00 1:00
3| Xk | REH 7:00 4:00 K= 8:00| K= 8:00 RE&EH 4:00 3:30 4:00
4] 7k 1:00| A& H 1:00 404> 404> 1:00 4045 404y 404> 1:00 1:00] 1k
5| K 1:00 1:00 1:00 409 4049 1:00 7N 4049 4049 1:00 1:00 1:00
6| & 1:00 1:00|<&H 409 409> 1:00 409> 409> 409 1:00 1:00 1:00
7 £ 4:00 4:00 4:00 Eix=| 8:00 4:00 3:00 4:00 4:00
8| B |R&EH *&R *&ER pie A= 8:00| A& H OFF %) A
9| R 1:00 1:00]k&H 409 409> 1:00 409> 409> 409 1:00 1:00 1:00
10| X 1:00 1:00 ~&H 409 1:00 409 409 409 1:00 1:00 1:00
11| & | k&EH 1:00 409> 1:00 409> 4049 407> 1:00] 1K %N
12| K 1:00 1:00 409 409 1:00 7w 4049 409 1:00 1:00 1:00
13| & | 72 btk F 2 bk F 2 Mk HERE R AEBER | mmam 7w 7w SERER 1:00| 7= rx F 2 ME
14| £ | 72 bk 72 bk 7 Z MMk AERER ABER | HAREHER ® A AERER
15| B |72k 72 Mk 72 bk ELESElL| AEER | HAREHER 7w % A ERIE
16| A |7 bk 7 & bk 72 Mk AEOEH AEEM  |smanan A A B 1:00] 7 = t 4k 7 bk
17| k| TARE F 2 Mk 7R bk BB AEBRE  |stmaamn 7 1% A ERE 1:00] 5 = +k F 2 bk
18| & | 7A KK F 2 bk 7R bk A ERE AEBE  |smnan 7 1% BB 1:00] 5 = +k F 2 bk
19| K | 72 ki F 2 bt 72 bk ABRBEM ABRBR | swwan 7w 7w ABRBEM 1:00| # = rx F 2 b
20| & 7= rek 72 A 7R A AEREHE HART A b |mxsar (0 K HRT R b 1:00| 5 = bk 72 bk
21| + | 7= bk 72 bk 7 Z MMk AERE ABBR  |HARETEM R A AERE
22| B |72 rk 7 Z bk 72 MK AERER AEER | HAREDHER = A AERIE
23| A |7=2rik 7 Z bk 7 2 MMk AERER ABER | HAREHER ® A AERER
24| X 7= rek 72 bk 7 Z Mk HARELER HART R b |mrrxr A A HRT Z b 1:00| 7 = k£ KT 2 b
25 K 1:00 1:00 1:00 2:00 2:00|mx7=+| 1:00|mks=+ 2:00|mx7=2+| 409 |mxr2r| 409 L 1:00 g7z b 1:00
26| K 1:00 1:00 1:00 409 409 1:00 409> 409> 409> 1:001 1:00 1:00
27| & 1:00 0:30 1:00 4049y 409 1:00 409 409 409 1:001 1:00 1:00
28| = 4:00 4:00 4:00 4:00 4:00 4:00 4:00 3:00 4:00 4:00
29| B |tf&EH ~&H *&H R&H *"&EHR 4:00] 1K 1w *&H
30| A 1:00 1:00 1:00 409 4049 1:00 409> 4049 4049 1:001 1:00 1:00




